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Writing Task 2 Sample 10

Business and Money IELTS Essay 1

As well as making money, businesses also have social responsibilities. Do you agree or
disagree?

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

With the enhancement of business, many believe that the owners should contribute to the
world and should adhere to corporate social responsibility, while others deny this opinion. If
asked personally | would agree with the former opinion.

First and foremost, it is evident that the business owners are in a position to make a huge
change, this creates a better future for the whole nation. There are many issues such as
hunger that need to be addressed by these people. There is a vast population who lives under
the poverty line, for them, it is difficult to even have the essentials for them. The nation will
crumble, and the company will soon be affected negatively. For instance, renowned
businessman Bill Gates started the Global Polio Eradication Initiative (GPEI) in 1988 and we
witnessed the astonishing result: it has almost eradicated the problem of polio from the whole
world.

On the flip side, it should not be disregarded that reinvesting in their own business will
improve business as well as generate more jobs. This will indirectly strengthen the nation's
economy. It is true that the magnification of a business will result in an increased amount of
tax not only through the industries but also from the companies’ newly recruited or recently
promoted employees.
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To conclude and to summarize, it can be observed that completing corporate social
responsibility will not only serve the nation but also enhance their own company. | would
suggest that all business tycoons should ethically donate significant resources for the welfare
of everyone.

(255 words)

Model Sample Answer 2 Band 7.5

Many believe that proprietors of large-scale industries must incorporate corporate social
responsibility in their companies, while others deny this opinion. | wholeheartedly agree with
the former opinion, my stance is given in the ensuing paragraphs.

To commence with, all business owners have succeeded in their life with a direct or indirect
contribution to society, so it must be obvious that they should return their favor when they
have the opportunity. There are many communities that support the budding start-up through
supportive ideas, finance, and proffering employees, thus, they should continue this generous
cycle and give back a significant amount to society when they have enough for themselves.
Furthermore, they should do this as if they are investing in their own society and thus in the
near future, it will likely help them back as well.

On the contrary, the economist mindset of a huge mass is likely to push these owners towards
more investment in other businesses. This would increase their chances to not only survive in
the industry but also make a handsome profit for themselves. This diversification is usually
considered a key to the enhancement of all the sectors in which businesses operate.

To sum up and offer my position, | would like to put forth that if businesses help the
community, they will have a huge gain in the longer run, to add, they will also gain the valuable
trust of the people in general. Thus, all the owners should take it upon themselves to donate a
certain amount and help the nation to grow.

(258 words)
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Model Sample Answer 3 Band 7

There is a debate whether the business should have an ethical responsibility and serve the
nation or they should put their money into something else. | bolster this perception, my

position is explained further with logical reasons and examples.

To begin with, there are many ways through which a business owner can uplift society, out of
which scholarship is the most popular form of aid which can be done by them. The TATA
Group has many scholarships, through which they help society to grow in a direction where
they can have a secured future. These scholarships even offer positions in the TATA
companies where they can use the knowledge which they have gained throughout their lives
and benefit the company as well. All such activities will also help to maintain respect not only

in front of the employees but also in front of the general populace.

In contrast, many say that employees who work in these companies and have to spend a long
time in the betterment of these industries should get benefits if the company wants to be
generous. There are many employees who work religiously with the company, their efforts
should not be disregarded, they should be given a token of appreciation either through

promotion or through some sort of incentive.
To conclude, it can be said that if owners have magnanimous hearts, they will put their money
to good use. It is true that they have enough and they should use a bit of this to help others in

all the ways possible.

(257 words)
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Model Sample Answer 4 Band 6.5

There is a split opinion on the fact that in the modern era, organizations have social duty after
they make their own monetary pursuits. | strongly opine with the given notion, my inclination

towards my stance will be explained further.

To start with, helping others will enhance their trust in the employees and this will also give tax
benefits. In countries like India, there are many tax exemptions, such as 80G in which we can
get 50% deductions if we donate a significant amount to various fundraisers. Moreover, all
enterprises should not make any decisions that can harm nature in the longer run. Many
factories do not discard the harmful gases properly and release them in open nature, this

causes breathing problems to the local residents.

However, some say that there are a number of obligations to a company such as growing the
company, paying back the dividends as well as updating the current technologies. If the
companies use their resources and exhaust them on social duties, then they might not have
enough left to complete these mandatory tasks; if these are not completed, then the company
is likely to be in grave danger. As a result, it increases the number of work options, which

lowers unemployment and raises people's standards of living.
To conclude and give my position, even if it is crucial to have a profit in order to maintain a
business, fulfilling social commitments is as crucial for the nation. Additionally, a business

ought to help its clients, regardless of the cost.

(253 words)
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Business and Money IELTS Essay 2

Nowadays celebrities earn more money than politicians. What are the reasons for this?
Is it a positive or negative development?

Give reasons for your answer and include any relevant examples from your knowledge or

experience.
You should write at least 250 words.
Model Sample Answer 1 Band 8

In recent times, the craze of becoming a celebrity is increasing as there is more scope for
earning money in this field than in others. However, many other fields are there, such as
politicians who serve the country and make their contribution to the development of the
country. | believe this is a negative trend more than a positive trend, and my views are

discussed below with valid points.

Starting with, as many people are getting paid in crores as actors, people have shifted their
view of becoming politicians and contributing to the nation. There are several reasons behind
the high pay of actors, like the high craze of global citizens in movies and commercial songs.
The sponsors and producers are getting a lot of views on the songs in which they make
commercials and pay actors a lot of money. For instance, at present, people like to know about
the lifestyles of the actors and see the celebrities as their idols after seeing the acting done in

a movie rather than getting motivated by seeing real-life leaders like politicians and

government civil servants, which increases the trend of celebrities in the world.

Coming to the side effects of this trend, people are motivated by seeing celebrities. It is
mandatory that all films have a positive message to society. Some films, such as those based
on crime, gangsters, and so on, have a negative impact on society. Consequently, many people

distract themselves from the right path and indulge themselves in bad ways of living life.
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To conclude, due to the increase in the popularity of movies and songs, celebrities are earning
more money. This has many negative impacts on society, such as how movies based on crime
change the mindsets of people in a negative way.

(296 words)

Model Sample Answer 2 Band 7.5

Politicians who give their lives for the country are getting less money than actors who just
work for themselves. There are many reasons behind this, and | believe this ongoing trend has
a negative impact on society as people will only think about their lives rather than contribute
to the country.

To begin with, one of the main reasons behind actors getting paid more is their popularity
among young people. As in our country, youths are more and many children get influenced by
seeing celebrities in whatever they do, such as commercials, advertisements, movies, songs,
etc. Businessmen appoint celebrities as their brand ambassadors in order to attract the
attention of the people interested in their product.

As to the impact of this, in order to earn money, people will go into the acting field rather than
serve their own country as civil force, army, politicians, etc., as there is less income in this field
than in the acting field. Consequently, as many people will go into the acting field, it is not
compulsory that one will succeed in that field. After that, people will go into depression and
anxiety. For instance, according to TOI, only 25% of people succeed in getting settled in acting
and modeling. Others fail to achieve success in this field, get demotivated, and commit crimes
to survive in life.

To conclude, due to the craze of actors among the youth, many businessmen make them
brand ambassadors of the company and give them money, but this has a negative impact on
society as many people who would go into this industry would not be able to succeed and
would commit crime for survival.

(276 words)
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Model Sample Answer 3 Band 7

Many people's minds are changing from becoming a politician or a government official to
becoming an actor and doing movies, model shoots, or songs to earn more money in life. |
reckon there are many reasons for this trend, and there are many positive sides to this, which

| will discuss in upcoming paragraphs.

Starting with the reasons, the main reason is that people can earn more money and fame in
the entertainment industry as it is followed by people of all ages, from small children to aged
men. People can earn money by doing brand promotions or starting their own businesses. For
example, Virat Kohi, a cricketer, is doing many brand promotions on his Instagram profile, and
for each promotion, he earns a good amount of money, which is followed by many public

figures.

Coming to the positive sides of this trend, People who are famous among people will promote
good products on the internet, people will buy good things that have better quality, and
people will follow the products promoted by celebrities more than politicians. That's the
reason almost all brands do their advertisements by getting popular personalities involved in
them rather than politicians. For example, brands like Adidas, Nick, Ceat, etc. have been giving
a large amount of money to their brand ambassadors as they are in profit after making them
their brand ambassadors rather than politicians.

To conclude, as popularity and money are greater in becoming actors than politicians, people
are making their decision to become celebrities. Due to this, many people will get to know

about a good startup.

(264 words)

TEST

2] IELTS Prep Video Resources 07 a—y( Click for 2025 Practice Tests

@ call us - Crush the IELTS Test! (L) 9597306237


http://www.getieltspdf.com/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
https://www.youtube.com/@KananInternationalIELTS
https://www.youtube.com/@KananInternationalIELTS
https://www.getieltspdf.com/high-quality-pdf-resources/

GET
IELTS

)Model Sample Answer 4 Band 6.5

Celebrities nowadays earn significantly more than high-ranking politicians. In some countries,
celebrities have large followings, making them more popular than political leaders. | agree

with the fact on some points.

Starting with reasons, there are many reasons why celebrities are paid more. Firstly, the
opportunities arose with the online streaming platforms. For instance, music videos of
celebrities are released on Youtube. This helps the celebrities gain more engagement on their
YouTube channels. Thus, leading to more fan following and popularity. In this case, YouTube
pays a heavy amount to celebrities. This becomes their major source of high income. The OTT
platforms are offering great opportunities for celebrities to play a variety of unique characters

in various genres of web series and earn more than traditional TV series.

Secondly, because most actors are receiving invites to foreign places, as suggested by movies
and modeling, They are now paid in dollars. As a result, celebrity earnings are increasing,
which will help to boost the country's economic system levels. authorities have given masses
of tax advantages for those with overseas incomes. This could be considered the primary
reason for earning more money than politicians. Today's newspaper report suggests an

assessment of the ways quick actors are producing money.
To conclude, due to the high engagement of actors among youth, people are shifting their
focus from becoming politicians to becoming actors. This comes with a great benefit as foreign

income in a country will increase as actors will be invited to foreign countries for a show.

(252 words)
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Business and Money IELTS Essay 3

Space exploration costs taxpayers an exorbitant amount of money each year. What are
the advantages and disadvantages of spending money on space exploration?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

Space exploration enables us to prove or disprove space-related scientific notions. Due to this
reason, a huge amount of government funds are spent on space exploration annually. This
has numerous benefits and drawbacks which will be explained in the forthcoming essay.

To commence with, there are numerous benefits of space exploration for humanity. Multiple
innovations are developed mostly by use of the space programme. In addition, space travel
could give humanity the opportunity to look for a new livable habitat for the human race
outside of Earth and discover other sentient species that may be seeking a method to
communicate with us. This would essentially explain some of our questions dating back a
century. Second, it allows us to prevent potential dangers from occurring. The universe is a
vast expanse where concealed hazards lurk virtually everywhere. Comets and asteroids are
excellent illustrations which can cause serious damage to the world. Exploration of space
affords us the chance to discover these possible threats in advance, thus preventing
apocalyptic calamity.

However, space exploration has disadvantages that cannot be ignored. Funding space
programmes is extremely expensive, which is one of the biggest drawbacks. Evidently, an
outrageous amount of money is spent on space exploration each year, while our planet
simultaneously faces a critical humanitarian issue that may be resolved by allocating generous
funds. The damage to the environment resulting from the massive usage of fossil fuels is a
second clear disadvantage of this technology. Thus, exploring space causes environmental
degradation.

In conclusion, space exploration has both benefits and drawbacks. It is recommended that we
build a budget for space exploration programmes with prudence, while also tackling more
pressing challenges on Earth.

(281 words)
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Model Sample Answer 2 Band 7.5

In contemporary times, the government devotes a significant portion of the tax revenue it
earns to space exploration. It has enormous benefits for space exploration and can warn us of
natural disasters, but these initiatives are costly and generate major environmental problems.
Below are mentioned both negative and positive implications of spending money on space
initiatives.

To begin with, there are numerous benefits associated with space exploration. The greatest
benefit of space exploration is that it gives us a greater understanding of the universe and our
home planet. Additionally, space missions aid in the development of new scientific technology.
These cutting-edge technology advancements have proven advantageous not only for
astronauts but also for earthlings. For instance, the GPS system used in smartphones and
tablets is built with the aid of satellites. Using satellites, it is also feasible to anticipate natural
disasters.

In contrast, one of the obvious disadvantages of space exploration is that it is expensive and
very specific with the requirements. Taxpayers must pay enormous sums to fund these
initiatives. In addition, these initiatives disrupt the ecological equilibrium by creating air
pollution and excessive temperatures. Rocket exhaust causes air pollution. The potential for
malfunctioning satellites and spacecraft to crash on Earth also poses a hazard to all living
beings. When there are so many problems on earth requiring government financing, it is not
fair to spend excessive amounts on space initiatives that may or may not produce the
intended results.

In conclusion, space missions help us learn more about the universe and increase our chances
of discovering new habitable worlds. However, these initiatives are excessively costly and may

have environmental consequences.

(270 words)
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Model Sample Answer 3 Band 7

Currently, investing money in space exploration is highly controversial. On the one hand, a
group of individuals believe that the money should be spent to develop space knowledge
while others believe that spending such a large amount of money is of no use for the growth
of the country. In the following essay, the benefits and drawbacks of investing taxpayer money

in space exploration will be discussed.

To begin with the pros, a crucial advantage is that the data collected by space expeditions are
extremely helpful in scientific studies. By having such information on space they can easily
create technologies that will help to ease people’s lives and can swiftly carry out their daily
routine tasks. Investing in space exploration also provides the capacity to predict natural
calamities. This is due to the fact that satellites orbiting the earth's atmosphere can monitor
changes by detecting any anomalies and relaying the information to the earth's connected
systems. For this reason, the government has the chance to prepare better contingency plans

which can save many lives in catastrophic events.

However, there are downsides to investing in space excursions. The most obvious of which is
the infrastructure expense. Although space exploration is beneficial for scientific study, it is
expensive to create a spacecraft and conduct the mission. Furthermore, many times the
launch of spacecraft fails thus resulting in the waste of money which could have been better
spent in other areas to improve people's life. Human life is sometimes lost when these

expeditions fail, which is an additional important disadvantage.

In conclusion, space explorations are beneficial in terms of forecasting natural calamities and
providing breakthroughs in scientific research, however it is important to consider the
infrastructure cost of space exploration which on the other hand can serve other societal

issues.

(283 words)
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Model Sample Answer 4 Band 6.5

Over the decades, the government has spent funds on space exploration. Therefore, many
people believe that space exploration provides many benefits to the nation, while others
consider that spending money on space exploration increases the tax burdens of those who

contribute to the funds. Both merits and cons are discussed below.

To begin with, the primary benefit of space travel is the chance of discovering another livable
place in the universe where people can live. The reason for this is that the Earth's natural
resources are limited therefore, it is crucial to locate an alternative landscape to live in before
they are exhausted. In addition, we need satellites in space to monitor climate changes and
detect extraterrestrial objects that approach Earth. Satellites also facilitate the operation of
terrestrial broadcasting stations and navigational systems. However, these satellites must be

maintained at a high cost.

On the other hand, the most significant disadvantage of space research is the high cost of
creating a spaceship. Numerous times, the launch of the spacecraft failed, resulting in the loss
of all associated funds. In reality, we do not need to send missions to planets to live in peace
on Earth. If the millions or billions of funds spent on space research were instead used to
improve circumstances on Earth, there would be no need to search for livable planets after

that.
In conclusion, space research is undoubtedly beneficial to humanity. However, there is no
basis for spending large sums of money on it, as these funds should be used to improve the

condition of the earth instead of searching for other planets.

(267 words)
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Business and Money IELTS Essay 4

Some employers reward members of staff for their exceptional contributions to the
company by giving them extra money. This practice can act as an incentive for some,
but may also have a negative impact on others. To what extent is this style of
management effective? Are there better ways to encourage employees to work hard?

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.

You should write at least 250 words.

Model Sample Answer 1 Band 8

This approach of proposing extra incentives and money has been used by several enterprises.
Some contend that applauding excellence may be satisfying for the person, it may not be so
for others. The main benefit of this sort of administrative technique, in my opinion, is inspiring
individuals to work harder.

People become fatigued and tattered out in today's competitive environment, especially at
work. Because there aren't enough of these motivating aspects, people get down and
eventually lose their drive for their specialization. The two most rudimentary feelings of
happiness that one can experience are actualization and joy. If that is dipped, there is no
possibility of conducting an easy-diving, uncomplicated procedure. Monetary compensation or
an increase of income may therefore be a potent motivation for increased-performing
attendants. Their encouragement and morale may be lifted, and their work pleasure and
results may also rise as a result.

However, provoking words and deeds to those who, for one reason or another, are incapable
to deliver as adequate yields as those who are excelling is a better approach than citing the
achievers. Rewarding the entertainers by praising their achievements and giving out little gifts
and certificates will undoubtedly encourage everyone to work harder and deliver better work
than on the previous day. But for certain people, it could lead to emotions of uneasiness and
self-doubt. As a result, it is critical to have an interim counseling session for individuals who
aren't performing well because it will help the process go in a better direction.
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To conclude, it can be stated that rewarding staff is a positive method. Regardless, keeping the
hind side in mind, as previously said, will make the procedure spectacular.

(279 words)
Model Sample Answer 2 Band 7.5

New organizational procedures are evolving nowadays due to the shifting dynamics of the
world. Some individuals believe rewarding and motivating staff is important, while others
believe it might have a destructive influence. I'll discuss the results of this exercise and some
conceivable modifications to provoke them to perform at their best in the paragraphs that
follow.

To begin with, earning more satisfactory pay is not just one of the most critical variables in job
satisfaction; it also helps employees have more hopeful career possibilities since it creates a
long-term association with their businesses. In terms of the company's benefits, this approach
has the potential to be a huge success in terms of raising sales statistics. Furthermore, this
activity fosters a competitive work atmosphere among employees, which might rouse them to
transcend themselves and become a new version.

Extra money, on the other hand, is a double-edged dagger in terms of assuring the safety of
colleague relationships. In reality, money may pit employees against one another, resulting in
office strife. When it comes to nailing the justice of awarding, it is difficult to define what is the
standard or foundation for donating. Nonetheless, these medicines are not the best
alternatives because they might have both harmful and beneficial consequences.

In conclusion, | agree that this method of management that provides additional money has
more advantages than disadvantages. The practice of recognizing great employees might
provide more benefits than drawbacks. This is why this type of approach is widely used in a
range of businesses.

(253 words)
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Model Sample Answer 3 Band 7

Employer enthusiasm is a critical aspect of corporate operations that every employee must be
familiar with. That's why offering bonuses in the form of money to noteworthy patrons has
become a widely accepted procedure to secure a positive working attitude. Meanwhile, others
are neglecting this concept. Justifications will be provided on both sides in order to find a

substitute for it.

To begin with, extra money is an immense source of inspiration for both workers and
companies. For starters, earning an adequate wage is not just one of the most basic variables
in job happiness. In terms of the company's benefits, this approach has the potential to be a
huge success in terms of raising sales statistics. Furthermore, this activity fosters a competitive
work atmosphere among employees, which might inspire them to surpass themselves and

become a new version.

Moreover, monetary awards do not have a destructive impact on employees in a company;
rather, they motivate them to be the best performers next time. It has worked wonderfully at
the firm since every member of the crew wants to be an achiever in order to get status and
compensation, resulting in beneficial feuds in the workplace. Other types of encouragement,
such as thankfulness notes, longer vacations, and concert tickets, can provide short-term

results, but monetary rewards will have long-term effects on workers.
To summarize, the aforementioned factors clearly insinuate that "appreciation" is an all-time
motivating force. Proactive employment from all parties involved will create great

circumstances in the organization.

(250 words)
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Model Sample Answer 4 Band 6.5

Nowadays, recognizing and rewarding employees is an essential part of running a successful
company. Some people believe that it is an inspiring thing for employees, whilst others are
neglecting this view as they believe it will create a destructive atmosphere among workers. |

completely agree with the former view, and | will justify the explanations in the essay.

On the one hand, people nowadays are becoming exhausted and tattered because of the lack
of inspiring aspects in the workplace. Also, acquiring more appropriate compensation is not
just one of the most important factors in job happiness; it also helps employees have more
hopeful career options since it fosters a long-term relationship with their companies.
Additionally, economic revenue or a rise in income may therefore be an effective motivator for
higher-performing attendees. Their motivation and morale may improve, and their job

enjoyment and outcomes may improve as a result.

On the flip side, there are numerous methods for improving employee performance. One
option is to assess work assignments on time and provide regular feedback for any needed
improvements. This would provide them with insight into their positives and negatives,
allowing them to work on them accordingly. Another way to motivate employees is to provide
them with paid vacation for a longer period of time than is currently the norm. As a result,
they will be obligated to enjoy what they do while also remaining loyal to the company for

which they work.

To conclude, there is no known better way to help motivate personnel than through financial

motivation, which people use all of the time.

(263 words)
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Business and Money IELTS Essay 5

Successful sports professionals can earn a great deal more money than people in other
important professions. Some people think this is fully justified while others think it is
not fair. Discuss both these views and give your opinion.

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

It is a well-known fact that highly successful athletes can earn significantly more than their
counterparts in other professions. Some say it is completely justified, while others say it is
completely unjustified. It's not fair to the other highly-valued professions, in my opinion.

On the one hand, there are individuals who have the opinion that famous video game players
are deserving of a significant amount of money due to the fact that they not only create a
world record for their country but also represent the nation all over the world, thereby making
the people of all nations feel proud. In addition, they can achieve all of this with a healthy diet
and sufficient practice time. Therefore, it is completely acceptable to earn significantly more
than people in other fields.

However, there are those who believe it is fundamentally wrong to associate with those of
different cultural backgrounds. First, non-athletes spend more time on important fieldwork
than athletes do. For instance, a scientist may come up with novel chemical formulas, medical
treatments, technological advancements, and so on. As a result of this, they miss out on
opportunities to enjoy life. Second, military workers sometimes gave their lives for their
country and its citizens but were ultimately unable to become famous or wealthy as a result.
It's not fair, in my opinion, to the other field workers who put in long hours and sacrifice their
time for the greater good of society and the country. Doctors, for instance, are willing to put
their own lives in danger in order to save the lives of their patients. As a result, it's only fair
that others get paid more.

Finally, while some may believe that successful athletes are entitled to higher salaries than
other professionals, others may view such disparity as unfair. In my opinion, this is unfair to
other accomplished individuals in the same field.

(313 words)
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Model Sample Answer 2 Band 7.5

More and more people all over the world are paying attention to professional athletes today.
The media is a major factor in a person's rapid rise to fame. Thus, athletes are currently
enjoying the same level of global acclaim as celebrities. Talented athletes should be paid more
so that they don't have to give their opinions away for free.

One possible disagreement that could arise is that some may find this proposal unfair. It's a
well-known fact that not all famous athletes are more gifted than, say, doctors, scientists, or
politicians. In many ways, they are crucial to the development of their country. Athletes often
compete independently, using their country's name as a label; however, when they achieve
greatness, the entire country benefits. It's largely due to the media that the public pays so
much attention to athletes while dismissing those in other fields.

Those who are bound by an honour obligation must be compensated with an enormous sum
of money if they possess merely talents. It is a well-known fact that not all athletes enjoy a
prosperous career in their chosen field. People who are naturally fearless and willing to putin
lots of effort are the ones who get to savour the spoils of victory. Even though they are playing
for their own personal goals, the accomplishments they achieve in sports cause the nation to
feel a great deal of pride. When this factor is taken into consideration, it is completely
acceptable to allow a sportsperson to earn a significant amount of money.

To summarize, it is reasonable for a sports professional to make a significant amount of
money if he or she has a sufficient tendency to accomplish something during their career. It is
very clear that the value of working in sports is significantly higher than the value of working in
other essential professions around the world.

(311 words)
Model Sample Answer 3 Band 7

There are a lot of disagreements regarding the extremely high salaries that top athletes make.
Even though there are reasons that can be given to justify this, in my opinion, it is still
unjustified that sports professionals make such high salaries.
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Many people think the highest-paid athletes make too much money and don't deserve it for
these two main reasons. People think sports professionals don't serve communities like other
important professionals. The first reason, football players often mention their huge salaries
for kicking a ball. The second reason is that while life would be harder without doctors,
engineers, and other essential workers, people could live without professional athletes.

However, | would contend that there are many reasons to support the high income in sports.
First of all, those who make it to the pinnacle of their sport need to be exceptionally talented
and skilled. They put in the time and effort every day to learn and perfect their craft. That's
why people who put in a lot of effort should be compensated well for their efforts. Secondly,
the athlete has a higher risk of severe injury because of their profession. If they get injured,
they will require additional funds to facilitate their recovery and continue providing for their
families. Furthermore, they will not be able to continue participating in the sports they
currently do. When they reach their forties, or sometimes earlier, most athletes call it quits.
Finally, the reason why athletes get paid so much is that sports fans are willing to pay a lot to
see their favourite teams and players play live.

In conclusion, | acknowledge that there are compelling arguments both for and against the
high salaries that sports professionals currently earn, but | maintain that they are justified.

(293 words)
Model Sample Answer 4 Band 6.5

Due to media attention, athletes earn huge salaries. They have big houses and cars. Many
consider their pay is unfair compared to top surgeons, research scientists, and national
leaders. Sportspeople aren't paid for their social work. Instead, they show the sport's
popularity and star power.

Due to the scarcity of talented athletes, their compensation may be appropriate. They sacrifice
their privacy and they need to handle the unwanted media pressure. Successful athletes that
earn a substantial income are exceptional among sports icons in terms of their efforts, skill,
and time. For instance, Shane Warne, Tiger Woods, and Sachin Tendulkar continue to attract
new fans who can provide context for the athletes' huge wealth. Daily entertainment is
required and we get it by watching football or our favourite television personalities.
Consequently, prominent athletes and entertainers get substantial wages.
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Famous athletes work hard to succeed. Hard work, persistence, and pain are a reason for their
success. They sometimes endanger themselves. For example, L. Amstrong is the world's most
famous cyclist. Cancer was his biggest challenge. This disease struck him young. Amstrong
discovered it in his early 20s. His words after winning France impressed me. "Cancer was my
best thing," he said. | think, only by believing in himself and not giving up, he beat the disease.
Such a person deserves a high salary and global acclaim.

| think sports stars deserve more money than movie stars, but it shows that our society values
sports over essential professions and achievements.

(259 words)

Business and Money IELTS Essay 6
More and more businesses, as well as individuals, are choosing to communicate either
professionally or socially using technology rather than being face to face. Discuss the

advantages and disadvantages of using technology for communicating

Give reasons for your answer and include any relevant examples from your own knowledge or

experience.

You should write at least 250 words

Model Sample Answer 1 Band 8

Technological advancement helps to improve communication between persons who are
associated with business and social commitments which has an immense positive impact for
both the personal and professional sectors. However, there are some disadvantages which
can affect the entire process of work or social life. This essay inspects the benefits and
drawbacks of not communicating in person.
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The advantages of using modern technology for communication of job and home purposes
are clearly seen. Many people are able to communicate from any part of the world to
anywhere with the help of video and audio communication services like Google meet, zoom,
and Microsoft teams. And employees can work on any particular project in spite of not sharing
the same roof of the workplace and can save the energy, time and the convenience of the
employees as well as the cost of accommodation and travelling can be reduced. Moreover, it
allows companies to achieve milestones easily as every specialist of different branches can be
involved in the same projects.

On the other hand, digitalization has negative effects on both commercial and social sectors.
Confidential data and Information shared among employees from different departments of
different branches are prone to theft or may become the victim of cyber attacks like phishing
or spyware. Furthermore, socially the use of technology can affect emotional attachment.

In conclusion, the use of technology from a business point of view can have many merits but
using the internet to communicate or share confidential data can be risky. Despite some
disadvantages, the advantages of technological advancement in commercial and social sectors
outweigh the disadvantages.

(266 words)
Model Sample Answer 2 Band 7.5

Nowadays, a growing number of businesses and individuals depend on technology to
communicate with others. Furthermore, face-to-face interaction is declining in both the
personal and professional sectors due to the increasing demand for digital communication.
However, there are other positives and cons which are associated with the use of technology
for communication.

Firstly, there are so many advantages of relying on technology for a business to work as it can
save a lot of time of employees, accommodation costs can also be reduced as business
requires a lot of domestic as well as international business trips which can be replaced by
video telephony software like Skype, Google meet and many more. Employees can also give
their best as there will not be any travelling, so they can not feel exhausted and they can focus
on their business deal or conference.
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On the other hand, there might be a case of a security breach where the hackers can access
unauthorised data which is confidential. For example, the data of domino's pizza which was
hacked by hackers was available on the dark web. The network issue may cause some
technical problems in meetings or while discussing the business and individuals speaking to
each other and small issues like this can result in a huge loss.

To conclude, there are rewards and risks to using technology for communication as compared
to face-to-face interaction. However, demerits like data loss and misunderstandings might be
a major disadvantage of the technology but still, the advantages exceed the disadvantages.

(252 words)

Model Sample Answer 3 Band 7

Many people and organizations choose digital communication methods over regular methods.
| believe that the use of advanced and modern electronic technology seems to be the way of
life in the present world. First and foremost the merits of technology used by companies as
well as individuals. In the second half, the demerits of using technology for communication
purposes by groups and individuals.

Nowadays, having a good conversation using wireless technology like a laptop, smartphones
and many more. People can talk to anyone from any corner of the world and can help to build
their start-up which was not possible in earlier days. Businesses can save a lot of money with
the help of technology like the cost of travel, accommodation and many more. Moreover,
children living abroad can be made assured that they are not missing their studies and are
safe.

Firstly, some argue that digital communication is failing as a result of a decline in interaction
abilities. In terms of social interactions, the present generation, for instance, is extremely
offensive. In the past, our grandparents and great-grandparents lived in the same house and
spent fun with each other, a tradition that is missing in today's modern generation. However,
technological evolution has resulted in multiple scams related to privacy. For instance, Meta,
which owns Facebook, Whatsapp, and Instagram, the most popular social media applications
used to steal data, is raising a question about a privacy policy.
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In conclusion, we should utilise all the modern technologies but we should use the technology
wisely for the betterment of the company or personal growth.

(264 words)

Model Sample Answer 4 Band 6.5

Technology has altered the way individuals conduct business nowadays, allowing more
individuals to perform operations through social networking sites or digitally rather than face-
to-face. Online platforms can be used for business purposes, but also raises important issues
about security. This essay will illustrate why the disadvantages outweigh the advantages of
technology used for communication by groups and individuals.

Firstly, Utilizing technology has made making deals extremely simple and easy for everyone.
Anybody can relax in the comfort of home and do business with the help of business
communication platforms like microsoft teams, google meet and many more. Individuals can
be in touch with their family members from any corner of the world and the attachment can
be maintained. Moreover, there are certain applications for predicting the profit or sales of the
product the company is manufacturing.

In contrast, the same information used by applications for predicting the sales or product of
the manufacturer can be hacked or used by unauthorized persons and the confidentiality of
the company’s data can be breached. Moreover, using a business communication platform
can also be dangerous as it can be open to intruders. Employees working from their comfort
zone may not be fully efficient as they cannot fully focus on work because of the environment
of the office that is missing and the presence of family can also make some errors.

To conclude, the benefits are good enough to bend towards them but the consequences of
the advantages can lead to an enormous loss to the company or any individual's privacy.

(257 words)
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Business and Money IELTS Essay 7

Leisure is a growing industry, but people no longer entertain themselves as much as
they used to because the use of modern technology has made them less creative. Do
you agree or disagree with this statement?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

“The current entertainment sector is directly attributable to the rapid development of
technology. Many individuals believe that the introduction of more advanced technology in an
area inhibits human creativity. Others, though, believe that it has helped people become more
inventive. | disagree with the assumption that individuals do not entertain themselves as much
as they formerly did due to technological advancements.

To commence with, contemporary technology has altered the meaning of leisure. Previously,
leisure meant going out, meeting people, talking with them, playing outdoor games, going to
the movies, etc. However, today's leisure options are diverse. There are numerous things to do
within the confines of our home. In addition to being able to watch innumerable shows on
national and international networks, we can also play online games and talk to friends and
family from any location. In addition, armchair tourism allows us to visit any historical site or
museum from the comfort of our armchair. Therefore, it may appear as if people do not enjoy
themselves as much as they did in the past.

On the other hand, technology has granted us more leisure time, yet we are unable to
establish a balance between work and play. We have turned into workaholics. In the past, life
was simpler. People worked to meet their basic needs. Work is no longer merely a way of life.
It is for personal satisfaction. We establish objectives such as a house or a car. We prefer this
lifestyle. Now that our standard of living has risen, it has come at a very steep price.

In conclusion, | believe that the supplied statement is weak because people today devote time
specifically to their own entertainment. Therefore, contemporary technology has not
diminished human creativity; rather, it has merely altered the notion of leisure and people's
way of life.

(302 words)
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Model Sample Answer 2 Band 7.5

As a result of the emergence of new technologies, people have become dependent on the
technological benefits it brings to society to make people's work easier. Therefore, many say
that the new technological developments have rendered individuals less innovative and less
motivated to innovate their daily routines. | completely disagree with the statement because
technology has made people's lives easier and more inventive.

Firstly, technological equipment has a significant impact on our work. As a result, the lives of
individuals have been significantly altered; yet, this has not resulted in an increase in laziness,
but rather a boost in productivity and creativity. Nevertheless, some individuals have gained
notoriety for their use of such applications and are leaders on reel platforms. Universities are
one such example since the institution's technology has been exposed to the benefits of
employing a computer and other equipment. In addition, with the help of modernity, people
are becoming more creative and are becoming aware of the skills they possess and the areas
in which they need to concentrate.

In addition, technology is employed in all movies, which has boosted the demand for
employees and, consequently, the employment rate, as organisations are hiring skilled
individuals. Since they began employing technology, creativity has increased in many sectors
of business. In addition, the invention of a speedier network has made communication
simpler, and unskilled people are utilising automation to learn more and bring their
businesses online.

In conclusion, | feel that if technology is utilised effectively, it can have a number of positive
effects on people's creativity, as opposed to making them dependent and ultimately lethargic.
However, individuals should use these tools in a limited capacity to cultivate their own
originality.

(288 words)

Model Sample Answer 3 Band 7

Many think that as technology evolves, those who utilise it become less innovative. Others
believe that it has several benefits and can be utilised to boost creativity skills, however, the

majority of individuals believe that it diminishes creativity. | disagree with the prior viewpoint
that technology has stifled human creativity.
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There are numerous justifications for my position that | would evaluate. As a result of Science
and sophisticated technology, living in the twenty-first century is quite simple, and individuals
can fulfil their tasks quickly and efficiently. Due to the fact that people can spend their time in
a variety of ways, there are currently numerous varieties of recreations. In addition,
entertainment is included in all activities, not just in conventional formats but also in several
novel forms. As time progresses, people tend to enjoy their time in increasingly simple and
unique ways, as their cup of tea improves.

Moreover, nowadays many people are addicted to technology but if those individuals use that
extravagant technology for their work, it can help them to increase their creativity. Even
though a YouTube lesson video is only a few minutes in length, the technology-generated
material offers a novel perspective, such as a tutorial video on YouTube.

Additionally, it varies from person to person due to the fact that some individuals spend their
leisure time with both family and friends. Children use their leisure time to indulge in fun
games and socialise with their peers. For example, common people go to the movies, as well
as picnics and other activities, for entertainment. Second, in the past, the majority of leisure
time was spent gossiping and playing card games with others. Compared to the past, living
today is incredibly simple.

In conclusion, | feel that current technology may enhance people's creativity through its
enjoyment if they spend time researching every element and are courageous to learn
continuously, as long as they do not rely on it.

(305 words)

Model Sample Answer 4 Band 6.5

To maintain a balance between work and play, leisure is a vital component of a person's life.
But the development of technology has made it difficult for people to enjoy it creatively. |
disagree with the assertion since, thanks to modern technology, today's youth have become
resourceful and creative in their spare time.

In the past, children spent their leisure time playing outside and watching a limited number of
television programmes; this type of activity caused them to become stagnant because their
capacity to learn something new lacked sufficient resources. Today, children can still play
outside, but they have a wider variety of activities. As people continue to produce new ideas
for enjoyable activities, they can experience a new form of leisure. In this way, children and
adults make use of technology to enjoy learning. Moreover, with more shows on television
today, people have more opportunities to discover various phenomena simply by watching
television at home.

TEST

2] IELTS Prep Video Resources 26 s—y Click for 2025 Practice Tests

@ call us - Crush the IELTS Test! (L) 9597306237


http://www.getieltspdf.com/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
https://www.youtube.com/@KananInternationalIELTS
https://www.youtube.com/@KananInternationalIELTS
https://www.getieltspdf.com/high-quality-pdf-resources/

GET
IELTS

In addition, people in the past had trouble earning additional money due to a lack of available
opportunities, and the most popular leisure activities in the past were merely chatting with
neighbours or doing nothing. Today, however, because of contemporary technology, many are
resourceful and utilise their devices to earn extra money. This form of creativity allows
individuals to have enjoyable leisure time because it keeps them occupied and creates extra
revenue.

In conclusion, modern technology did not inhibit the inventiveness of individuals in their
leisure activities; rather, it enabled them to explore new possibilities and spend leisure time in
a more entertaining and resourceful manner.

(271 words)

Business and Money IELTS Essay 8

Large shopping malls are replacing small shops. Do you think it is a positive or negative
development?

Give reasons for your answer and include any relevant examples from your own knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

A new trend is there among people to shop from big malls and branded showrooms rather
than small-scale shops. There are as many benefits of this as its drawbacks and my views on it
are shared below with appropriate examples.

To begin with the benefits, the major and most prominent reason why the mindset of people
has changed from small shops to large shopping malls is the discount provided by the shops
in the malls. Usually, there are more than 20% discounts in the malls which attract a crowd
towards it. Besides this, in large malls shops people will be able to get premium quality
products and one who sees the quality of the product more will definitely get attracted
towards the branded shops in the malls.
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Furthermore, People can get a variety of options in the malls which are lacking in the small
shops in the city. For instance, if a person gets the option of 20 different shirts in small shops
and 100 shirts in large shops then for the obvious reason he will prefer a shop which is giving
him more options of shirts. Moreover, while doing shopping in the large malls, the citizens'
time will be saved as in malls all kinds of items are available at one place while if he does
shopping from small shops he would have to go to several places which will ultimately waste
his time.

To conclude, there are so many benefits of shopping in large malls such as discounts on items,
premium quality products, all kinds of items under one roof, etc which are attracting people to
come there.

(270 words)

Model Sample Answer 2 Band 7.5

Nowadays people are preferring large shopping malls in place of small shops by seeing the
infrastructure, hospitality, etc provided over there, and sales of small shops are reducing
continuously. | believe there are more negative effects of this ongoing trend than its benefits.

First of all, small shop owners who established their business for years will break down as the
customers are preferring large malls over small shops. As a result, the income of the small
business owners will dip down and they would not be able to bear the expenditure of the
house. Furthermore, products sold in the large malls are quite expensive and all the middle-
class families could not afford them. For example, a shirt that is sold in malls is 2000 but the
same shirt would be available in small-scale shops for 500 which is quite affordable for
middle-class families.

Coming to advantages, traffic problems will drastically reduce in almost all the cities as all
malls provide parking to the customers which are not facilitated at small shops by which
customers park their vehicles on the road and create traffic in that area. Moreover,
unemployment will reduce to some level as owners of large malls will hire security guards and
workers for cleaning the mall. As a result, the GDP of the country will increase.
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To conclude, although there are many disadvantages of large malls such as the lower income
of the small shop owners, and expensive products in malls, benefits of malls are also there like
traffic problems will decrease, unemployment will also reduce in the country.

(261 words)
Model Sample Answer 3 Band 7

In recent times, the sales of small shops are markedly diminishing as people's perspective is
changing toward large shopping malls. In my opinion, there are many benefits of this ongoing
trend as compared to the negative side. My view regarding this will be discussed below with
proper examples.

To start with, shopping malls provide discounts and special offers on special occasions like
festivals, national holidays, weekends, etc which customers will surely benefitted after going
over there. For instance, if a watch price is 2000 rupees on normal days but on special
occasions its price would be reduced by around 500-700 rupees which will be beneficial for the
customers. Moreover, All kinds of items such as groceries, clothing, and books, along with
food courts and refreshment facilities are there in the large malls which is beneficial for the
customers as their time would be saved as all kinds of products are provided under one roof.

On the other hand, as large malls require more space to establish in one region, as a
consequence land for housing will be reduced. On the other hand, in order to run a company
there, a little quantity of land is required for small enterprises, which allows for a greater
number of individuals to operate their businesses in that location.

To conclude, although malls require a lot of space to make over one place, they provide
special offers, discounts to customers on special occasions and all kinds of products are
provided over there which will definitely save the time of customers.

(255 words)

Model Sample Answer 4 Band 6.5

In the last few years due to the establishment of large malls, small shop owners are facing
problems in selling their products. In my opinion, this shift of customers from small shops to
large malls definitely has positive development because it brings out to be a better option for
the customer.
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To begin with, there are several benefits of large shopping malls such as in the malls people
can find a variety of options for shopping and at a distinct price as in from expensive things
that item to mid-range all are available for the customer at one place. People can roam around
the mall. The best for them in a mall strictly depends on their budget and personal interests.
Moreover, products bought by customers in malls are replaceable so that customers can buy
the product if their mind changes which are mostly not provided by the small shop owners.

Furthermore, Almost every retail mall has a roof, so it is always feasible to escape inclement
weather. This implies that you will never have to dash between shops to dodge the rain or
return home with wet items. The completely air-conditioned environment within the majority
of shopping malls is a perfect method to beat the heat. Never love trying on clothing while you
are hot and sweaty.

To conclude, it is debatable whether shopping in a huge shopping mall or in a collection of
local stores is preferable; but, in my opinion, the advantages of large shopping malls to
contemporary society far exceed the possibilities and conveniences afforded by small stores.

(261 words)
Business and Money IELTS Essay 9

Rich countries often give financial aid to poor countries, but it does not solve poverty,
so rich countries should give other types of help to poor countries rather than financial
aid. To what extent do you agree or disagree?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

Currently, the gap between affluent and poor nations is expanding. Even today, millions of
people in developing countries lack access to health care and education. Since their
governments lack the financial resources to enhance their citizens' standard of living, some
believe that wealthy nations should provide financial assistance. | agree with this
recommendation. In my opinion, rich nations should support poor nations.
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Firstly, wealthy nations nave excess finances. by providing financial as

GinBerdev nations, the global quality of life can be raised. Povert

IEETsw us societal evils. It is a well-known fact that numerous a
thrive in disadvantaged countries. In general, the impoverished are unhappy
life. They are also furious with the wealthy. Obviously, many of them exhibit crimina
tendencies. They cannot be reformed without an improvement in their living conditions. By
offering financial aid to needy nations, wealthy nations can alleviate poverty in those nations
and contribute to a more peaceful world.

In addition to financial support, wealthier nations should employ other means to aid the
needy. The strategies will focus on enhancing the motivation, survival abilities, and knowledge
of the recipients. Therefore, they will be able to govern their country effectively and enhance
their living conditions. As a result, living conditions in less developed countries will improve
and they will be able to rely on their own resources.

In conclusion, | believe that high levels of corruption and weak governance are the primary
causes of poverty in underdeveloped nations. However, this can be resolved by instituting the
appropriate rules and regulations.

(262 words)
Model Sample Answer 2 Band 7.5

It has been suggested that wealthier nations should always provide adequate financial aid to
developing nations in order to relieve poverty. In addition to providing monetary assistance,
prosperous nations should prioritise providing humanitarian aid to developing nations. In my
opinion, suitable services for teaching and training the citizens of these impoverished nations
should be made available.

To commence with, financial assistance to a country in need may initially appear to be a
solution because it temporarily alleviates a country's economic problems. However, merely
financial aid will not work in the long run for various reasons. First, financial aid does not
always reach those in need. Some of the poorest nations have corrupt administrations that
misappropriate foreign help for their own gain. Consequently, the poor will remain
impoverished even after receiving foreign aid. Therefore, if these financial aids are
implemented effectively, they can be substantial or even more effective in providing actual
support.
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Secondly, prosperous nations should establish their firms in these less developed nations.
Therefore, a rise in investment will allow the country's citizens to have access to employment
opportunities. On the other hand, the process of giving economic aid should not be halted, as
the above-mentioned processes require time to produce the best results. A congruous
combination of these variables would produce a more favourable outcome in the future.

In conclusion, | support the view that rich countries should provide practical assistance to
enhance the economic situation of poor countries but, providing just economic assistance to
poor countries will temporarily mitigate the gravity of the issue.

(257 words)

Model Sample Answer 3 Band 7

Nowadays, rich nations are becoming richer while poor nations are becoming poorer. Some
people believe that developed nations should send financial aid to developing nations, while
others argue that financial aid cannot fix this issue. However, wealthy nations provide needy
nations with assistance other than financial aid. This idea has both benefits and drawbacks. |
concur with the former view.

On the one hand, many people feel wealthy nations should provide financial aid to developing
nations. In accordance with this criterion, rich nations provide this assistance, which is
beneficial to underdeveloped nations as a result of wars and natural calamities. While some
state authorities aid this country financially and provide food and essentials to its citizens,
others provide shelter to those who have lost their houses as a result of the war.

On the contrary, a number of individuals believe wealthy nations should provide assistance in
other ways besides financial aid. While financial aid is necessary, developed nations also
provide other sorts of assistance, such as excellent education, water supply, electrical
infrastructure, etc., since if only money aid were provided, the issues of poverty could not be
resolved. For instance, in the majority of nations, pupils learn with the fewest available
resources since these nations lack good schools and quality education. Therefore, prosperous
nations should provide educational and medical aid.
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In conclusion, | believe that wealthy nations should provide financial aid and great education
to young people so that they can advance their careers and the nation as a whole. Moreover,
they should also provide employment opportunities so that the standard of living could be
improved.

(266 words)
Model Sample Answer 4 Band 6.5

In order to help poor nations in solving their money problems, rich nations give funds to poor
nations. However, for different reasons, providing financial help to poor countries may not be
an effective means of improving this financial problem. In my estimation, there are many
other ways to solve this problem.

To begin with, one of the main reasons why raising money for less developed nations cannot
be useful is that boosting their bad public facilities, such as education, health care, and
transportation has clearly greater benefits than giving money. In other words, money is not a
long-term solution to poverty without meeting basic requirements. Therefore, richer nations
should focus on the weaknesses of poorer nations, which tend to play a crucial part in
resolving their money issues.

However, it is an evident fact that this condition is a superior alternative to providing financial
help to poor nations in order to free poverty. Another strategy is to help the developing
countries in constructing a merged infrastructure network. To function correctly, a society
requires basic corporate structures, yet many developing nations lack the resources and
technology to establish these facilities. Therefore, they are in bad need of help to improve
their current situation. For instance, if roads are constructed, merchants from poor nations
will be able to export their wares and earn foreign currency to combat poverty. Also without
any employment, there would be numerous problems. Hence, rich nations should construct
many industries to help them.

In conclusion, | believe that it would be fair to argue that poverty may be eliminated if funds
are utilised effectively. Also with other measures, the condition of people in poor nations can

be improved effectively.

(258 words)
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Business and Money IELTS Essay 10

It is a good thing if senior management workers in a company get a much higher salary
than other workers in the same company. Do you agree or disagree?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

Many people think that superior workers should be paid more as they are with the
organization for a long period while some people are against it and say pay should be
decided according to the skill of the employee and his determination towards work. | partially
disagree with this statement that senior workers should have more pay than the freshers.

Starting with, if senior workers of the company would be paid more than freshers then they
would most likely take work for granted. And would not work harder than before. As a
consequence, they would not bring any type of advantage to the company they are working
in. Because the junior workers who are working with them would feel as if they are getting
less pay just because they have less experience than managers.

Continuing with, knowledge is the most important attribute to determine the salary of
superior servants. Because when leaders lack knowledge in their field of work, they may not
encourage, inspire or motivate their subordinates. For example, a worker cannot help his
junior if he himself does not have sufficient knowledge of work. As a result, subordinates will
not follow the rules set forth by their superiors. Therefore, knowledge is a necessary virtue in
determining the outcome of management activities.

To conclude, if the gap between the pay scale of workers and managers is more than workers
would get demotivated and would do their best for the organization and a large amount of

salary will also bring laziness among the higher post people.

(256 words)
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Model Sample Answer 2 Band 7.5

In mostly all companies a manager or a person in a higher post is paid more than the juniors
and other workers. Many people are in support of this trend but at the same time, some
people are not happy with this business of the company towards higher posts people. |
believe there is nothing wrong with giving a higher wage to a person of a higher post than a
lower post.

To begin with, as senior managers and workers are working with the company for a longer
period, they bring their experience with them. As, in a situation of danger, a senior worker
can help an organization to come out of it through his experience, which a fresher would not
be able to do. By this, we can easily say that senior workers deserve to get a higher salary
than their juniors.

Continuing with the post of a manager is not that simple that one has to look after his work
only, it is very complex as many other employees are assigned under him as he is a senior
and has the experience, so he would have to work more and harder. Due to this reason,
there is a difference in salary between seniors and juniors. Moreover, a manager has to work
more than all the employees as he has to coordinate with both his seniors and junior
according to the post assigned to him.

In conclusion, as all the senior workers come up with the experience of being able to handle
dangerous situations and resolve the problem in a minimal amount of time and also the
more work they do as an individual, they deserve more salary to be motivated all time.

(284 words)
Model Sample Answer 3 Band 7

In a company, a person having a superior position in a company is paid more by the
organization than juniors. There are many reasons behind this salary difference. Some
people agree that the difference in salary between managers and their juniors is a good thing
but some people are against it. | agree with this statement that it is a good thing that seniors
have more wages than juniors.
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Starting with, if managers or seniors would have a higher salary than a junior then it will
motivate juniors to work hard to achieve that position in the future to have a wealthy and
luxurious life in the future. For instance, if a manager would have a salary of 70000 rs and his
junior has a 40000 rs salary then the junior would try hard to achieve that position. Overall,
this will be beneficial for the company only as they will get profits from this competition
among employees.

Furthermore, due to the gap in the salary of employees, there will be competition among all
the employees to get promotions from their posts so that they can have a higher salary than
before. As a result, the growth of the company would boom and they will earn high profits. In
the end, this will be beneficial for both employees and the company.

In conclusion, due to the gap in salary between employees, they will work hard to get
promotion and also competition for the higher post will increase by which company will earn
more profit and will have a higher position in the market than before.

(264 words)
Model Sample Answer 4 Band 6.5

Some people believe that managers should be paid more than the junior workers who are
working under them while some people disagree with this opinion and say all workers in an
organization should be paid equally. | agree with the viewpoint that seniors should be paid
more than juniors as they bring out many qualities with them.

Starting with, the main advantage of the difference in salary of workers will be respect. All the
junior workers who are new to the workplace would give respect to senior workers as they
are the ones who have more salary than them and also they only will give promotions to
them. For example, a managing director would be given respect by the whole office as he is
the one who will give promotions to the people in the office and increase their salaries.

Continuing with, The main reason top managers want higher salaries is that they are often
under a lot of pressure. While some might argue that most employees work the same
amount of time for the company and should therefore be paid a similar salary, | believe the
main difference lies in the many additional responsibilities these top executives have. These
managers, who are now no longer humble employees, are people who make the most
important decisions in the company and are responsible for every failure because of their
decisions. Because of the ubiquitous role of executives in a company and the pressure it
places on them, it is more than justifiable to be paid higher wages.
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To conclude, as managers and seniors have more work than juniors, they deserve a higher
salary than other workers as this would increase respect for seniors in the minds of juniors.

(287 words)

Business and Money IELTS Essay 11

In many cities, planners tend to arrange shops, schools, offices, and homes in specific
areas and separate them from each other. Do you think the advantages of this policy
outweigh the disadvantages?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
Model Sample Answer 1 Band 8

Urban development is incorporated by city planners to facilitate tourism, growing
populations, and citizens' needs for modern public facilities. In this quest, they organize
shops, educational institutes, offices, and residential complexes in distinct areas.

This policy has both advantages and disadvantages, but overall it is beneficial. There are
numerous benefits.

The first and foremost reason is that planning aids in traffic management. Because public
transportation is an important component of urban planning, such locations are usually well
served by it. People who drive their own cars can carpool when all offices are in one location.
For instance, if six residents of a residential complex need to go to work in the same area,
each can drive a day per week. It would be beneficial to both people and the environment.
This would also keep residential areas free of noise and traffic, making them desirable places
to live.

Scrutinizing the drawbacks, It encourages the use of automobiles because people must travel
long distances to go shopping or to their places of employment. This is harmful to the
environment. It also wastes students' time because they must spend a significant amount of
time commuting to and from school. Some areas may be very close to schools, while others
may be very far away and unsuitable.
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ITo summarise, | believe that careful urban planning is a necessity of the day.

Shopping centers and offices should be located in separate areas, away from residential
areas. However, each residential area should be served by a nearby school so that students
can benefit. Overall, the benefits of city planning outweigh the drawbacks.

(266 words)
Model Sample Answer 2 Band 7.5

In this modernizing era, in order to facilitate the inhabitants, the majority of the constructions
in the cities are thoroughly planned. Different and distinct sites are allocated for residential
areas, markets, hospitals, schools, and offices. Such developments make a developing nation
into a developed nation. It does, however, come at the expense of increased travel time and
cost to residents. In my perception the merits of the segregated zones outweigh the
demerits.

According to my perception, planned cities are always better places to live because the
development is better managed. People can enjoy the tranquility of healthy living because
the commercial space is far away from residential. Children can play in parks free of
commercial pollution. For instance, all large cities in Afghanistan have separate industrial
areas to better conduct commercial activities and protect people from dangerous influences.
Likewise, factories are not tied to faraway apartment complexes, so they work well on the
night shift. A well-thought-out urban plan with proper area allocation brings many benefits to
residents as well as business people.

On other hand, with the above-mentioned advantages comes the problem of long commutes
for the residents. As a result, which schools and offices are located at different locations from
the housing complexes, it takes more time and effort to get there. Similarly, low-wage
workers cannot afford to travel to the job site on a daily basis. They are looking for shelters
near the factory where they work. However, many industrial units have addressed this issue
by constructing worker accommodations within the industrial boundary.

To put it in the nutshell, the benefits of a well- thought map of the city add to people’s
inconvenience in terms of travel and fuel expense to reach daily destinations as it forms a

calm, healthy, and well-managed lifestyle that outweighs the drawbacks.

(300 words)
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Model Sample Answer 3 Band 7

To better serve the residents, the concept of town planning has been introduced in recent
years. The idea is to designate a specific area for each segment. This separates schools,
hospitals, and offices into distinct locations, resulting in a managed city. However, this
increases the community's travel time and adds to the administrative costs that the
community must bear. However, | believe the benefits far outweigh the drawbacks.

Most importantly, the planned site is an ideal place for residents to live. A well-developed
society offers the best accommodation, medical facilities, amusement parks and clean living
conditions. City officials have divided areas to present a better perspective of society. Baria
Town, for example, is considered the best residential area in Pakistan. Parks, hospitals and
residential areas are separated. They develop societies away from industrial areas to protect
the area from pollution. They also claim to have better security measures in place for their
residents.

Travel time to school, work, the hospital, on the other hand, is increasing. Similarly,
authorities in the area are now charging fees for the services they provide.

As a result, the cost of living is rising for residents. For example, Bahria Town collects monthly
security, maintenance, and tipping fees from its customers. Many people are willing to pay
such costs to provide a healthy lifestyle for their families in order to live a peaceful and
secure life.

To summarise, daily living expenses for the community have increased in the form of travel,
lodging, security, and entertainment. The householder must now pay an additional fee to use
the facilities. However, residents prefer to bear such costs because they want to provide the
best living conditions for their families in order to better nurture them. In this regard, |
believe that the benefits of urban development outweigh the drawbacks.

(300 words)
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Model Sample Answer 4 Band 6.5

Some city planners have suggested that cities should create separate neighborhoods for
shopping malls, educational institutions, office buildings, and residential areas. | admit that
there are downsides to this proposal, but | would argue that in general there are upsides.

It is true that dividing land into different uses can lead to environmental issues. If students
and commuters must travel long distances to school and work on a daily basis, it means that
there is a high volume of transportation involved, which increases greenhouse emissions.
This is especially true for those who choose private cars as their mode of transportation,
which consume a large amount of fossil fuel each year and contribute to global warming.

On the other hand, dividing areas by purpose can help to alleviate traffic congestion. If the
majority of citizens live in the same neighborhood and work in the same direction in another
district, they should walk the same route every day. This means that rush hour traffic moves
more quickly and efficiently. This is exacerbated when transit agencies reset traffic lights to
reduce wait times, depending on the direction of the main traffic flow. In addition to this, if
such an action is taken into consideration it will eventually help the government to surge the
economy. Various types of buildings need certain sorts of infrastructures, such as sewage
systems and power and water supply facilities. It is the duty of the government to
concentrate on one particular kind of infrastructure in one region instead of constructing
buildings randomly in cities.

To sum up, | truly believe that the proposal to separate different facilities may have some
drawbacks, but | believe it is generally positive.

(279 words)
Business and Money IELTS Essay 12

Wealth does not necessarily guaranty happiness. To what extent do you agree with this
statement?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.
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Model Sample Answer 1 Band 8

Some individuals feel that wealth is the key to their happiness, and believe that the more
money one has, the happier they will be. Everyone else believes that possessing a large
amount of money ends up creating more complications than it resolves. | feel that as long as
individuals receive sufficient money for essential necessities like food and a comfortable
space to live, a massive proportion of surplus funds is likely to make existence less pleasant
instead of more rewarding.

First and foremost, if you possess a lot of money, you have really no genuine desire to work
or aim for anything. Moreover, rich persons attract the inappropriate type of individuals.
After a certain time, the wealthy person start to realize that everybody around them wants
just one thing: a piece of their wealth. This makes wealthy individuals afraid even of their
honest, dependable connections.

Fear of losing one's wealth is another consequence of possessing a great deal of it. To keep
out the entire world, the wealthy construct high walls and invest in high-tech surveillance
systems. In addition, they become arrogant about the individuals that they meet, constantly
fearful that individuals without money are possible thieves or scammers.

Due to these causes, | believe that owning a substantial amount of money is extremely
harmful to happiness. It causes individuals to lose sight of the true sources of happiness,
which are frequently simple things such as family and friendship. Wealth inhibits people from
perceiving the genuine value of goods, as they are only able to recognize their cost.

(257 words)

Model Sample Answer 2 Band 7.5

Presently, we have a little more resources to do business, enhance our assets, and predict a
positive future, although this does not necessarily indicate we can lead to happiness.

Throughout this essay, | shall try to demonstrate that possessing a significant quantity of
wealth does not constitute a source of pleasure.
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There have been numerous explanations that prosperity and enjoyment tend to move off
from each other. It can become a nuisance because everything around you is the result of
anxiety and emotions of suffering. Moreover, if the sole objective is to gain additional income,
it can be extremely simple to suffer a flip and loss in profit in a short amount of time. The
discomfort associated with possessing big monetary amounts is a result of having to expend
more of it in order to be properly secure, such as the cost of defensive purposes and

additional payments to store cash in financial institutions.

Due to scarcity and threats, humanity has evolved. People require motivation, longer we do
not improve, the more likely we will become lethargic. This is the major motivation we are
unable to evaluate happiness and prosperity, as the way our minds operate somehow
doesn't change based on our economic state. In addition, happiness displays itself in a wide
range of ways, such as the fact that possessing all and also being capable of sharing it with

other people provides much more happiness.

In conclusion, money can provide all kinds of artificial and materialistic demands, however, it
is not the cause of our sense of peace. There is nothing in the universe that really can
substitute a family meal or family time.

(275 words)

Model Sample Answer 3 Band 7

Wealth does not necessarily bring happiness. Considering the fact that money is crucial, |

partially believe this statement; however, it does not guarantee a peace of mind.
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Initially, wealth is essential in life because we simply cannot live without it. Essentially, assets
enhance our relationships, wellness, and career. First and foremost, money helps you build
and preserve relationships since it enables you to reward your colleagues, offer beautiful
presents to your partners, and care for your family. Then, you may have used your money to
employ a personal physician to supervise your condition, and you can also have a healthy
balanced diet. Eventually, you will also have numerous opportunities to access the modern
education system that is based on your income.

Furthermore, money does not guarantee satisfaction as a result of a horrific disease. First of
all and importantly, if you suffer from a mental disease, such as an anxiety problem, you will
continuously be concerned about things that don't deserve anxiety. Because of this, you
cannot make a full recovery from your psychiatric condition even if you possess a substantial
amount of money because you're unable to live an enjoyable life. Therefore, if you miss
particular physical elements, such as your feet, you cannot spend your money to purchase
normal legs like other people. Humans will never settle with the quantity of money they
possess, so even if you are fortunate, you will continuously be worried about wealth, humans
will always desire more and more profit, which will continue unless they realize that it is too
late to find happiness.

To sum up, | feel that money is crucial, but it is not a guarantee of happiness, and it is
important to discover ways to enjoy life even if we are not wealthy.

(294 words)

Model Sample Answer 4 Band 6

It's indeed correct that happiness does not always equate to financial success. Happiness is
something that rejuvenates our minds and brings us immense pleasure. Many individuals
believe that happiness embraces wealthy individuals with welcoming hands. This however is
incorrect. Wealth can be utilized to buy overpriced premium products, but this does not
assure that we're going to appreciate them. | believe that true happiness resides somewhere
between satisfaction and serenity.
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It is clear that pleasure and economic achievement are still not necessarily linked. Joy
refreshes our brains and gives us immense pleasure. Several humans think that joy spreads
welcoming hands to the privileged. However, this really is misleading. Money can be
employed to afford expensive luxury items, but this doesn't ensure that we will enjoy them. |
feel that real happiness comes halfway between peace and calmness.

On the other hand, it is clear that money is required to make up for the shortfall. However,
the concept that wealth is the most essential part of pleasure seems to have no merit. A
person can purchase a luxurious and costly car, and a house with several conveniences, but
he could still purchase a sound sleep. The same holds for enjoyment.

It can be derived through the saying "Money makes the horse run", to some extent,
accurately. Wealth is not everything, however, it is something. Real pleasure does not lie in
money but in our decisions and behaviours. Therefore, humans must always aim to be fair in

all activities, because doing so will increase overall satisfaction.

(256 words)
Business and Money IELTS Essay 13

In recent years many small shops have closed, because customers travel to large
shopping centres or malls to do their shopping

Justify your answers with examples with your own knowledge and experience.

Your answers must be in 250 words

Model Sample Answer 1 Band 8

In recent years many small shops have closed, because people prefer to buy their entire

needs under one roof, so they prefer to go to malls and departmental stores for shopping.
Also they were able to compare and buy one thing in different brands.
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Some popular brands are solely supplied in shops and shopping centres. Some brands are
satisfactory with their quality. Comparing small shops with shopping centres and purchasing
malls, people would choose buying in department stores and purchasing centres because
they can get a wide variety of merchandise and unique sorts of manufacturers for one
product at one spot. Nowadays departmental stores are open at each and every place, where
people can also get discounts in departmental shops and purchasing malls. Not solely the
households, also the kid toys, creative household things are available in buying department
stores and departmental shops and also humans sense the buying mall as a time out spot,

human beings can do shopping, playing games and theatres are additionally available.

People would keep away from small shops in local areas even if they have exceptional
manufacturers and large collections of specific products, but they have a minimal collection
of products or the rate of the product is no longer worth it. That's why humans avoid
shopping at neighbourhood shops.Apart from all these things humans choose buying centres
because they can get all their wishes at one precise region like households, cosmetics,dress
etc. they had been attracted by way of advertisements too, In my factor of view it is a high
quality development, most of the people pick to do purchasing in malls and departmental

stores.

(274 words)

Model Sample Answer 2 Band 7.5

In this modern world nowadays local shops (small shops) are closed due to loss of customers,
people prefer much more shopping malls than local shops. According to my knowledge and
my opinion is that this is a positive trend in this society. Local shops are not constructed
according to any plan, they just opened the shop for their financial need. Local shops are
constructed on the roadside without any basic facilities which are needed for customers like
parking, customers prefer peaceful shopping without any disturbance. and shopping areas
must be more spacious. But those facilities are available in shopping centres, department
stores. In shopping malls and in departmental stores they can park their vehicles without any

fear in the parking areas.
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In shopping malls or at departmental stores if the customers buy any dress they can try it
trail rooms are available there once before they buy it, like this facilities are also available in
huge shopping centres, but it is not there in local shops, also now some local shops also have
this facilities even though they do not prefer those local shop. Yes, shopping malls,
departmental stores' products are much costlier than local shops, even people know it but
also they prefer shopping malls.

Some people always prefer to buy the best product even if it costs higher, mostly all imported
goods and products are available only in malls and shopping centres, people who like those
products firstly prefer to go to malls and other shopping centres.

(250 words)
Model Sample Answer 3 Band 7

With their busy schedule people are attracted towards shopping malls that have a wide
variety of goods and where they can satisfy their needs under one roof. In this modern world
most of them prefer shopping malls because of their convenience and easy to buy products
with best and good quality with offers. On the other hand, the small, neighbourhood stores
are shutting down / going out of business due to the attractive shopping environment of big
malls. Many shopkeepers are left with no work as the shops are less visited by the customers.

Firstly, working people don't have much time to buy each product at separate shops, so they
prefer shopping malls, where they can see products in different sections under one roof,
(especially kids toys, maternity clothes etc all those things under one roof,) by this they can
save their time and energy. The availability of exciting offers on shopping malls makes people
grab the deal to save their money.

In shopping malls the attention of staff is very good, the way they help us to zero-in on our
choice and fulfilling all the requisites, at the same time people have their own space to go
about and pull things on their own without any assistance or any other second decision from
others.some people prefer shopping malls and departmental store for their prestige, they
have many option for each products. Even shopping malls seem to be an entertainment area
where theatres, games and food courts are available.

(256 words)
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Model Sample Answer 4 Band 6.5

In recent years many small shops have closed not only because of customer interest, but also
because of the losses they faced. At first they opened a shop to earn some profit. We could
not say that every business can get profit only. Sometimes shopkeepers also face losses, at
that time they desire to wind up the business and they desire to go to any company to earn

by working.

Moreover, the daily expenses of running the shop are high for the owner and hence they are
switching to other jobs to earn butter and bread. Furthermore, many uneducated workers
are getting unemployed or working at low wage rates. However, it is cumbersome for the
small retailers to compete with the marts by presenting offers on shopping. Therefore,

shopkeepers are bearing huge losses due to the attractive offers of marts.

Also in this modern world there are many online shopping websites to do service for people
(like Jio mart, reliance etc). as food delivery websites these websites are used to buy groceries
at the place where we are. Many people prefer these methods to do shopping without any
difficulties.

In conclusion, the growing popularity of shopping malls is largely a positive development
because they make shopping hassle free. However, malls often cause small stores to shut

down and hence it is a negative development for them.

(250 words)
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Business and Money IELTS Essay 14

Meat production requires relatively more land than crop production. Some people
think that as land is becoming scarce, the world's meat consumption should be
reduced. What measures could be taken to reduce the world's meat consumption?
What kinds of problems might such measures cause?

Give reasons for your answer, and include any relevant examples from your own knowledge
or experience.

Write at least 250 words.
Model Sample Answer 1 Band 8

Meat production requires extra space than vegetable production, so some people opine that
the world will run out of land. To stop this situation, reducing meat intake will help. Reducing
meat consumption can be done in numerous ways, and it can pose many difficulties. In the
next paragraph, I'll explain my reasoning.

In my view, there are a variety of approaches that may be taken to lessen the amount of meat
consumed by people. For instance, raising the cost of meat is not the optimal option, but it is
a good technique in terms of finding a solution quickly. Second, the industrial sector ought to
begin manufacturing synthetic meat that is based on plant materials, such as mushrooms
and beans. In addition, the administration should start educating its citizens regarding some
of the negative effects of eating an excessive amount of meat. On the other hand, the
government should educate and encourage people about the many positive effects of eating
a diet that is high in vegetable consumption.

These efforts, meanwhile, can also lead to some issues. If beef is more expensive, other food
companies that use it as an ingredient would be impacted and their food prices will go up. In
addition, consuming too much plant-based food might be unhealthy because it contains a
combination of genuine plants and chemical ingredients, for example, making it highly pricey
for some people.

TEST

2] IELTS Prep Video Resources 48 a—y( Click for 2025 Practice Tests

@ call us - Crush the IELTS Test! (L) 9597306237


http://www.getieltspdf.com/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
https://www.youtube.com/@KananInternationalIELTS
https://www.youtube.com/@KananInternationalIELTS
https://www.getieltspdf.com/high-quality-pdf-resources/

GET
IELTS

Finally, while cutting back on meat consumption can help with the space issue, | think there is
a better way to go about it. As a result, it is advised that the state union increase the land tax
in meat production areas and assist their inhabitants in making efficient and cost-effective
use of their own property.

(285 words)

Model Sample Answer 2 Band 7.5

Presently, a large number of people believe that livestock expenses should be reduced
because of the increase in the production of meat, which uses less land than crops. In this
essay, | will offer some recommendations for cutting back on daily meat eating as well as a
number of problems that may arise as a result of these recommendations.

These acts may interfere with people's dietary habits and health. First, our systems need a
certain number of vitamins and animal proteins each day. If we don't eat enough of these
foods, our bodies and brain won't work properly. Second, even if technology has boosted
culinary options, it takes time for a person's taste to acclimate to a new cuisine. Convincing
people to choose veggie eggs over hen eggs may need financial investments and marketing.

However, it is undeniable that there are a number of steps that may be taken to address the
redundant usage of meat. The government can run various efforts to urge its residents to eat
more fruits and vegetables in light of the rising trend of vegetarianism. People can therefore
substantially benefit from these alternate dietary sources. They can maintain their physical
fitness or live longer than our forefathers, for instance. Additionally, because of the
advancement of biotechnology, scientists now have better access to sophisticated tools for
utilizing molecules in order to create more novel hybrid food varieties.

To summarise, improvements in reducing the amount of meat consumed around the world
can be a step forward for society as a whole in the current green living, despite the fact that

such developments might result in some problems at some points.

(273 words)
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Model Sample Answer 3 Band 7

Most believe that livestock is overconsumed in many places. Eating too much meat is bad for
people's health and the environment because it's difficult to absorb and produce. | think
culture and cost are the main reasons individuals overeat meat; alternatives include health
knowledge and less access to meat.

Over the course of recent history, the tradition of consuming meat on a daily basis has
developed into an accepted component of the cooking styles of many cultures all over the
world. It is generally agreed upon that meat is tasty; hence, it should not come as a surprise
that it has emerged as an essential component in a wide variety of cuisines, including beef,
pizza, and butter chicken.

Ministries must target and inform the populace of the long-term health dangers, such as
obesity and cardiovascular disease, that are connected to consuming excessive amounts of
animal products. Those can better understand their dietary habits and be inspired to make
changes by watching one-minute videos that depict the cholesterol buildup in the arteries of
people who consume meat frequently in films and social media commercials. Additionally,
authorities have the legal authority to restrict citizens who have excessive access to meat. The
consumption of meat can be regulated to be no more than three pounds per person, per
month.

In conclusion, people consume too much meat as a result of social conventions that have
developed over time and their inability to afford a whole meal. However, by regulation and
public relations, governments can deter people from following this unhealthy diet. | firmly
believe that consuming less meat as part of a healthy diet is healthier for people today and
for society in the future.

(281 words)

Model Sample Answer 4 Band 6.5

Meat includes proteins and minerals, hence its demand is growing. Meat requires more land
than crops. Some feel meat consumption should be limited worldwide as it diminishes

farmland. In this post, I'll address how to reduce world meat intake and the possible
consequences.
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On the one hand, there are some issues that might develop as a consequence of carrying out
these actions. Altering one's eating habits drastically in a short amount of time presents a
significant challenge for most people. In addition, some people have issues with their
stomachs when they suddenly change their eating habits, which can be uncomfortable. As a
direct consequence of this, carrying out this kind of action would not be made any simpler.

On the one hand, by making efforts to manufacture meat substitutes, processed meat can be
decreased. Since meat produces various types of proteins and nutrients, it must take this into
account before manufacturing the substitute. As an illustration, numerous foods, including
soybeans, and some vegetables, also contain protein. The government may adopt a policy to
promote the consumption of those items rather than meat. Some religious leaders may
encourage non-vegetarians to eat vegetarian fare, which has led to a decline in the
consumption of meat. Individual meat consumption will decline, which will cause a
progressive increase in the size of the landmass.

To sum up, even if performing such actions will be difficult, they will occasionally be beneficial
for expanding our property. However, eating vegetables or other alternatives that also
provide protein that substitute eating meat.

(254 words)
Business and Money IELTS Essay 15

In some countries, a few people earn extremely high salaries. Some people think that
this is good for a country, while others believe the government should control salaries

and limit the amount people can earn. Discuss both views and give your opinion.

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

You should write at least 250 words.

TEST

2] IELTS Prep Video Resources 51 a—y( Click for 2025 Practice Tests

@ call us - Crush the IELTS Test! (L) 9597306237


http://www.getieltspdf.com/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
tel:%20+919597306237
https://www.getieltspdf.com/high-quality-pdf-resources/
https://www.youtube.com/@KananInternationalIELTS
https://www.youtube.com/@KananInternationalIELTS
https://www.getieltspdf.com/high-quality-pdf-resources/

GET
IELTS

Model Sample Answer 1 Band 8

High wages are being offered to a select few in many nations. There is a vast salary gap
among people. Many people think that this is beneficial for the nation. While some of them
argue that the government needs to set a wage limit. | believe that this has an economically
positive impact.

People will lose their motivation and zeal to work hard to achieve their goals if their income is
limited to a certain amount. People work hard to earn high wages so they can live the lifestyle
they prefer. Also, it is undeniable that the concept of the circulation of income or capital is
important in the economy. Elaborating on it, people spend as their salary permits. A higher
salary is paid in accordance with the employee’s experience, skills, and knowledge. Hence, it
is unfair to cut their salaries to satisfy a specific group of people.

In addition, the management of payrolls by the state is a step that may be taken to prevent
such cutthroat competition. However, this is not even close to being true. The regulation of
pay leads to increased complacency in the workforce, which in turn increases the risk of
nihilistic melancholy. Uneven distribution, on the other hand, might result in restrictions
being placed on certain groups of staff members. Furthermore, demands such as social
security, societal norms, and self-esteem may be impaired as a result of the developed
anxieties as well as attitudes toward competition.

In conclusion, | believe that a few people earning hefty amounts can be beneficial for the
country, not just financially but also economically, that is, for the growth and development of
the country. However, there is a group that thinks that this is a good impact, while others
counter that the government should limit salaries.

(298 words)
Model Sample Answer 2 Band 7.5

In many countries, only a tiny percentage of the population earns the majority of the money.
Although many argue that doing so would be beneficial to the country, others argue that
authorities should enforce existing laws and cap people's incomes. Even though income limits
would help reduce inequity and promote a more equitable society, | think affluent people
benefit the country in many ways, including by creating jobs for their fellow residents.
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One of the arguments in favor of salary caps is that they can eliminate inequality and injustice
in the world. To put it another way, affluent people have a greater propensity to flaunt their
money through conspicuous consumption, as seen by the purchase of expensive goods such
as enormous houses, flashy vehicles, and expensive apparel, all of which can elicit sentiments
of jealousy. It would help to prevent this from happening if wages were lowered, which would
lead to living conditions that are more equal for everyone.

Wealthy individuals are often responsible for the creation of a large number of employees,
which is to the overall nation's advantage. This is because they could run a factory that
employs a large number of people or have housekeepers. Wealthy individuals are significant
for the sake of this endeavor because job opportunities are critical to the success of a nation.
For instance, a wealthy individual could have a housekeeper, a babysitter, and a driver, in
addition to a large number of additional employees who ensure the smooth operation of his
life.

In conclusion, | think it's good to have wealthy people in the country because they create jobs.
However, | also think it's important to control the size of pay to avoid unfairness and
inequality.

(284 Words)
Model Sample Answer 3 Band 7

There are several states on the globe in which only a small number of residents have high
incomes, and the government has no authority over these residents. In other countries,
everyone is required to pay taxes based on their income. This is a topic that is very significant
throughout the world, yet not everyone thinks the same way about it. We are going to discuss
the benefits of high incomes as well as the negative impacts that they may have.

In addition to gaining respect, in my view, amassing large wealth brings about benefits such
as comfort, health, and safety, amongst others. A wealthy individual can also stimulate
economic growth by increasing the number of job opportunities that are available and by
contributing to the nation's financial system. This benefit depends on giving working people
jobs instead of storing them as gold or any other commodity.
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Yet, extreme wealth may exacerbate problems like economic inequality. Consider a
community where many people are priced out of the best features. Most people in this
nation have experienced bias because of the skewed distribution of resources. Poverty would
rise and general happiness would fall if a small group of people owned the vast bulk of the
world's riches. To put it simply, if a country just had a very small quantity of money, its
economy would collapse.

To summarise, in my opinion, even if some people might have little advantage despite having
high wages, this is still a reason to disrupt the equilibrium in society since it causes more
people to have more money than they need. The government ought to maintain equilibrium
by collecting taxes or putting a cap on the amount of salary paid out.

(284 Words)

Model Sample Answer 4 Band 6.5

Insane wealth accumulation is a clear pattern that is essential to a country's progress. Some
people think that large earnings should be celebrated, while others argue that there are
serious drawbacks. From my perspective, many positive outcomes may result from

something like that. Both views, as well as my opinion, are explained below.

Improving the quality of life is the primary objective. The economy can be sustained if the
most inventive brains accomplish the impossible and amass wealth. In addition, these
considerable revenues may be utilized in a variety of ways, including stabilizing or even
lowering the nation's mortality rate and improving the educational quality of the people
within a set time frame. This has several negative implications, including encouraging
wasteful expenditure and increasing economic inequality.

On the other hand, this practice, even though it promotes the frivolous use of money, is
eventually advantageous for the growth of the nation as a whole. People eventually become
more valuable to their own country, which helps improve their country's reputation and
overall well-being.
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In my perspective, excessively high incomes are an unavoidable consequence of the growth
that the country has made. Although it could result in some pointless purchases, | feel that it
plays an essential role in the development of the home provinces. Because of this, the
government needs to both encourage and make it possible for money to be used in a good

way.

To sum up, while few think that paying huge salaries to a niche employment group is positive

for the economy, others tend to complain that it is not fair for the poor and the authorities

need to put a restrictive upper limit on salaries.

(276 Words)
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